7325

W79 =h)LT—74 / Technical Datall

1t JLY / Recommended torque

M25 : 0.15N*m ~ 0.2N-m

M3.M4 : 0.3N*m ~ 0.6N-m

F view
& / Product Number
AU I N I U A N e B B B
Hi& Wti& Dtk BR/A ERXRP/H B
H dimension W dimension D dimension Feet (R or A) Screw (P or H) Color Type

RBAL#k / Feet specification

#ERNZ / Components

No. £ ¥4 / Part name = / Pos #ME / Material & - REAIE / Color+Finish
| a—F—7avy 4 TIVEH A Fv Rk ADC12 DIR—, Ty B (NERLE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
9 IR ) TV A6063S-T5 UILN—- B (NERELIR)
Frame Extruded aluminium A6063S-T5 Silver - Painted (Unfinished inside)
3 TL—L 4 TV A A6063S-T5 DILN— & (NEREALEER)
Panel support frame Extruded aluminium A6063S-T5 | Silver-Painted (Unfinished inside)
4 AtV ) T ILEAR A1100P DILN— BE (RELBNE)
Panel Aluminium A1100P Silver- Painted (Conductive inside)
5 Hi— | 7 JLE4R A1100P DIVN—-FE (EEHEENE)
Top cover Aluminium A1100P Silver- Painted (Conductive inside)
6 Thii— ; T ILEHR A1100P DILN— R (RELBNE)
Bottom cover Aluminium A1100P Silver- Painted (Conductive inside)
TLE TPE (L5 RkV) TIvY
7 Ruber feet 4 TPE (Elastomer) Black
TSR FIZ&IYAvT L VIN—TFLII&TF9Y
Aluminium feet Aluminium & Silicone Silver* Anodized & Black
s EMCY—ILRAR T vk 16 HEMEAM (ULIAV-0) ALYy TL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 HUfFE R (M3 x 8) 1 % ZUiTILAYF
Screw (Flat head M3 - 8) Steel Nickel plated
10 HAFE R (ATM3 x 5) 8 #% Zu LAY
Screw (Trapezoid head M3 - 5) Steel Nickel plated
" BFER XA FEM4 x 8) 4 3 SR oOA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
12 HAFER CETFBIEFAM25 x 7) 8 #% ZUiTILAYF
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

B E R{L4E / Original trapezoid head screw specification

@30 10

@30 12

® O

© b

[R] T4 / Rubber feet

TFILZZE / Aluminium feet

[P] 752 / Phillips

75# / Hexagon—socket

fa1t#% / Color Type

i85 / Code | 3—7+—7J A% / Corner block {81#R / Frame NI / Panel $/3— / Top cover | TF#/3— / Bottom cover
S S 2 JLIN— / Silver 2 JLIS— / Silver 2 )L18— / Silver 2 )Ls3— / Silver 2 )L13— / Silver
S B 75v% / Black < )L1S— / Silver 2 JLsS— / Silver < )L1N— / Silver 2 JLsS— / Silver

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title

INRILBRFBEEMCY — LR —R
EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

o]

R /Scale

#2/Approved

1R ES

X/ Checked

#[X/Created

A

#4% /Product number

AUPE133-16-2510 -0

~R—/Page

{ER B /Date 2022/11/25

1717

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

113

203

E view

A view

1325+ 05

F view

o

0

\$

160+ 0.5

= A

A-A(1:4) C-C(1:4)
1 0
o o)
— N
0
236 152
C view B view
250+ 0.5
m/Title

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

INRILBRFBEEMCY — LR —R
EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

o]

#2/Approved

1R

X/ Checked

T

#[X/Created

A

#4% /Product number

AUPE133-16-2510 -0

R /Scale
1:4

{ER B /Date 2022/11/29

~R—/Page

2 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#x / C Frame

131.5

XM / Front side

D {8l#% / D Frame

XM / Front side

200 22.5

125.2

3.2

33

33

3.2

<
- ' ol
————— |

2-M3AHY IR
2-M3 Countersunk
¥ R*¥EHEHE / Same on the other side.

251 / Back side

Z1H / Back side

B2/ Title
TAKACHI] #RXaitanFE@TE Bl @]==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
#2/Approved #R[X|/Checked #[X]/Created #4%/Product number RE/Scale
1:3
iR x (320 P =y
H133 - D250 e B/Date  2023/01/05 3 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

225

86

-

2-M2.5

110

2-M3AHY IR
2-M3 Countersunk

14

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
IL—Ls

Panel support frame

o]

7 &8/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1.5:1
iR E: w4t —
W160 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /N2RJL / A Panel

119

XM / Front side

B /A% JL / B Panel

K / Front side

109.5

e 5
A4 A\ 4

oY oY
L S — AR

A#Fi% / Max dim.102+ 0.3

& Zs |
A\ 4 A\ 4

o o
B~ S — A

BHTi% / Max dim.98.6+ 0.3

4-M25FARILRY)—T
4-Metal sleeve for M2.5

3.5

REES—HA

Surface protective film side

REES—HMA

Surface protective film side

1115

251 / Back side

221 / Back side

86

fa %/ Title
TAKACH) #=&#snF BRI R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A2/ Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:25
x (320 ~R—/Page
H133 - W160 {ERL B /Date 2022/11/16 5 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7 4-@45
130 2

A#hTi% / Max dim. 203+ 0.5

<
: o

& g
REES—HMAY
Surface protective film side

¢} @] (0] o}
A% / Max dim. 113+£0.3
R / Front side 2@ / Back side

i Title
RERHIATBRIE | i O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7R/ Approved #&[X/Checked #[X]/Created F& /Product number RE’;‘/iC;‘e
iR ES Eaza) R=T/Page
W160 - D250 {ERL B /Date 2022/11/16 6 /7
AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

239.4

R / Front side

220

149.4

130

101.4

4-45

1914

<ti% / Max dim. 203+ 0.5

2

=l

H~TiE / Max dim.

4-M4
113£0.3

RS —HA

Surface protective film side

ZEME / Back side

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

A2/ Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:2
iR ES it R—T/Page
W160 - D250 YER B /Date 2022/11/16 1771

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






